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E
o2

M2 25 NH2% 53 NE=2% Ao
stz s my | A® (o BE | A" |oF mm | A
BF ®F od ®@ | BFR Y BR  HF
s 3 |45 98.6067 |18 4.5 97.5 18  |4.1667 |94.6667
s 4 |45 98.6067 |18 4.5 97 18 425 95.3333
s 4.5 98.4 15 |4.4167 (97.5 18 |4.2 94.4
PR 3.9167 |91.6667 |18 |3.5833 88.3333 18 |2.8333 81.3333
zd 40714 |94.4286 |21 |3.6429 88.1429 21 |3 82
Zd 42143 195.1429 |21 3.8333 |89.3333 |18 [2.9167 80.5
PR 4.25 946067 |18 |3.9167 |92 18 325 84.3333
Zd 4 91.6667 |18 |3.5 87 12 |26 78.8
PR 4.25 953333 |18 |3.6667 |89 18 |32 84
zd 4 92.6 15 |3.6667 87.6667 18 [2.75 81
ZH| 43333 ]96.5 18 |3.60667 90.3333 |18 3.1667 |83.1667
ZH| 41667 |95 18 |3.8333 1915 18 |3.3333 85.6667
ZH 44167 |97.6667 |18 4.0833 |93.6667 |18 |3.3333 85.1667
ZH| 44167 |97.5 18 |4.1429 1942857 |21 |3.2857 |85
ZH 4375 195.5 12 3875 9 12 129167 |81.5
ZH| 4.25 95.5 18 |39 92.6 15 |33 86.2
ZH 4.3 95.2 15 41667 194.8333 (18 |3.5 87
2 41667 |94.1667 |18 |4 91.6067 |18 3.1667 |83.6667
2 40833 92.5 18 13.8333 90.8333 |18 |3.0833 |82.5
2 41667 193.3333 |18 |3.8333 |89.8333 |18 [2.9167 82.3333
2 4.25 946067 |18 |4 923333 |18 |3.25 85.5
2 4 92.2 15 3.625 89 12 12875 [80.5
2 4.2 93.2 15 14.0833 94.1667 |18 3.1667 |83.6667
22 3.9 914 15 |36 88 15 |27 79.2
St 44167 196.8333 |18 4.0833 |93.5 18 |3.4167 |8/7.5
W=t 4.25 96 18 |4 93 18 |3.3333 85.3333
=St 42857 (954286 |21 |4 92.3333 |18 3.3333 |85.6667
=t 43333 196.8333 |18 |4.1667 |93.6667 |18 |3.5833 |88
St 43333 |95.6667 |18 |4.1667 |94.5 18 |35 87.75
ekl 4.3 96 15 |42 95 15 |3.4167 |87.1667
=t 43333 196.8333 |18 |4.1667 |93.6067 |18 |3.4167 |87
i 43333 |97.5 18 |4.0833 94.1667 |18 |3.25 85.1667
== 41667 |94 18 |3.75 89.8333 |18 3.1667 |82.8333
T 43333 |96 18 4.0714 92.7143 |21 |3.3333 |86




20225t A 25t7| Std stitH M X SletiE
Mres 23 Mxes 7 Mres 23
st mE | ME ol BE | AFE o ®E | AMFE oF
7 | ®@ | 9F ®F | gy oF »E | HFE o
== 4 44167 |97.6667 |18 |4.25 |94.8333 |18 |3.6667 |88.5 18
== F1 1425 96.5 12 139167 |91.8333 |18 |3.25 83.75 12
o= F2 141 93 15 |4 91.8333 |18 |3.25 84.1667 |18
== F3 4.4 95.6 15 |4 92 15 |32 84.6 15
st T 4 93.5 18 ]3.8333 |90.1667 |18 |3.25 83.5 18
St 2 40833 |93.1667 |18 |3.6667 |89.3333 |18 |3.1667 82.3333 |18
st 3 425 94.8333 |18 |4 92.6667 |18 3.4167 |86 18
st 4 1425 95.6667 |18 |4 92.5 18 3.5 87 18
St F1 1425 93.75 12 139 91.6 15 |33 85 15
st F2 4.3 95.8 15 ]4.0833 [91.3333 |18 |3.3 85.6 15
St F3 4.2 95 15 |4 92.6 15 |35 87.2 15
79 1 138333 |92 18 |3.75 |90.6667 |18 |3.4167 |84.8333 |18
79 2 42857 (964286 |21 |4.0714 |93.2857 |21 |35 87.3333 |18
9 3 425 948333 |18 |4 92.2857 |21 |3.4167 |85.8333 |18
79 4 144167 |96.6667 |18 4.0714 |93.5714 |21 | 3.4167 86.8333 |18
79 F1 1425 95.25 12 139 91 15 129167 [80.5 18
79 F2 143333 96.3333 |18 |39 90.8 15 ]3.5833 89.3333 |18
9 F3 1425 95 18 4 92.4 15 |36 88 15
=3t 1 143333 |96.3333 |18 [4.1667 94.1667 18 |3.5833 |88.5 18
w3t 2 43333 1973333 |18 425 94.6667 (18 |3.75 90.6667 |18
= st 3 143333 |96.8333 |18 |4.2143 194.4286 |21 |3.8333 90.3333 |18
=3t 4 144167 |96.5 18 4.2143 |94.7143 |21 |3.6667 |90 18
= 2t F1 143 95.8 15 |4 92.25 12 1325 84.25 12
w3t F2 4.3 95.6 15 |42 95.2 15 3.8 90.4 15
=< F3 44167 973333 |18 (425 93.6667 |18 |3.8333 |89.6667 |18
ojcjof |1 14.3333 955 18 14.0833 |92.3333 |18 |3.25 85.1667 |18
ojc|iol |2 42857 |95.8571 |21 4.0833 /92.3333 |18 |35 87.2857 |21
ojCjof |3 14.3333 (956667 |18 |4.0714 |93.8571 |21 |3.4167 |87.5 18
ojcjof |4 14.3333 |96.5 18 ]4.0833 193.8333 |18 [3.5 87.5 18
ojcjof  |F1 1425 93 12 139167 |90.8333 |18 |3.25 84.25 12
ojcjo]  |F2 44 96.6 15 |41 93.2 15 3.7 89.4 15
ojcjo]  |F3 143 96.6 15 ]4.0833 92.6667 |18 |3.5 88 15
=kl 1 139167 |91.8333 |18 |3.75 |89.5 18 [3.1667 |85 18
= 2 |4 92.5 18 |3.6667 |89.3333 |18 |3 82.6667 |18
=kl 3 |4.1667 |93.3333 |18 |3.6667 |89.5 18 12.8333 |80.5 18




2022t A = 25t7] ot StntH M X ShehE
Mres 23 Mxes 7 Mres 23

st mE | ME ol BE | AFE o ®E | AMFE oF

7 | ®@ | 9F ®F | gy oF »E | HFE o
=l 4 141667 |94.1667 |18 |3.7857 |91.5714 |21 |3 82 21
=l F1 14.0833 935 18 |3.6667 88 18 2.875 |81 12
= F2 141 92.2 15 3.8 90.6 15 |33 85.4 15
=l F3 4.1 92 15 375 |89.6667 |18 |3 81.5 18
BHAsd 1 4 92 18 3.9167 |90.6667 |18 |3.4167 |86 18
BHHEd |2 140833 |93.3333 |18 |3.6667 [89.1667 |18 |2.8333 |79.6667 |18
BHskd |3 1425 94.6667 |18 |3.8333 |89.6667 |18 |3 81.6667 |18
BHE |4 41667 |95.3333 |18 [3.9167 91.3333 |18 |3.25 83.6667 |18
BHskd |F1 1425 96 12 13.875 |91.75 12 3.0833 |82.3333 |18
BHAstd F2 4 93.4 15 |3.6667 |88.1667 |18 |3 81.6 15
BHstd |F3 |42 94.8 15 |38 89.4 15 29 81.8 15
Ats|lEX|Sfeh 3 43333 |95.8333 |18 4.0833 93.1667 |18 3.5 86.6667 |18
Ate|=X|sfnt 4 1425 95 18 |4 93 18 |3.4167 |86.8333 |18
Ats|SX|SeE F3 44167 |96.3333 |18 425 1941667 |18 |37 88.6 15
o & T 4 92.5 18 ]3.8333 |91 18 ]3.0833 |82 18
A g 2 41667 |94.5 18 3.9167 91 18 325 84.1667 |18
o & 3 |4.1667 |95.5 18 [3.9167 |92 18 |3.1667 83.6667 |18
A g 4 143333 |96.5 18 14.0833 |93.5 18 |35 85.6667 |18
o & F1 4 92.8333 |18 3.625 |88 12 12875 [80.5 12
o & F2 14.25 953333 |18 |3.9167 |90.6667 |18 |3.3 85.8 15
A g F3 |4.1667 |93.3333 |18 3.8333 |90 18 |3.1 81.8 15
A= 1145 96.5 18 425 |94.5 18 ]3.3333 |85.5 18
= 2 143333 |96.6667 |18 |4.0833 |92.6667 |18 |3.1667 |85.5 18
= 3 44167 |96.6667 |18 4.0833 |91.8333 |18 3.1667 83.666/ |18
= 4 144167 |97.3333 |18 |4.25 |94.6667 |18 |3.5 86.2857 |21
A= F1 |44 97.6 15 |4.25 93.75 12 135 87.25 12
A= F2 143333 |95.6667 |18 |4 93.8333 |18 3.3 85.8 15
= F3 44167 |96.6667 |18 (4.2 94.2 15 |35 86.4 15
ot 1 143333 |95.5 18 |4 92.3333 |18 |3.5833 |87.5 18
ot 2 142857 (957143 |21 |4.0833 194.3333 |18 |3.5 86.3333 | 18
7 of 3 44167 |97.6667 |18 |4.2143 196.2857 |21 1 3.6429 |89 21
7 of 4 144286 (974286 |21 |4.3333 96.6667 |18 |4 91.7143 |21
ot F1 14375 ]96.75 12 |4.1667 |94.5 18 |3.75 90.75 12
ot F2 4.3 95.2 15 ]4.0833 |94 18 3.5 86.8333 |18
7 of F3 |4 92.6 15 |38 89.8 15 |3 82.4 15




20225t A 25t7| Std stitH M X SletiE
Mres 23 Mxes 7 Mres 23
st mE | ME ol BE | AFE o ®E | AMFE oF
7 | ®@ | 9F ®F | gy oF »E | HFE o
o= 1 44167 (956667 |18 |3.8333 |91.5 18 29167 |81.3333 |18
o= 2 143333 |96.5 18 ]4.0833 |93.6667 |18 |3.4167 |87 18
o= 3 43571 964286 (21 14.0833 |93.3333 |18 |3.25 83.8333 |18
o= 4 144167 |95.8333 |18 |4.1429 94.1429 |21 |3.3333 |85.5 18
o= F1 14375 955 12 13875 |92.5 12 12875 [80.5 12
o= F2 145 98.8 15 |44 97.4 15 |3.6667 |88.8333 |18
o= F3 4.4167 |97.1667 |18 |4.1667 |94.8333 |18 |3.6 89.4 15
ST 1 143333 (953333 |18 4.1667 |93 18 |3.4167 |86 18
ST 2 44167 955 18 |4.1667 |93.8333 |18 |3.25 84.8333 |18
S= 3 44167 |97.1667 |18 |4.1667 |94.1667 |18 3.3333 86 18
ST 4 44167 (98.1667 |18 4.2857 1952857 |21 |3.5833 |88 18
ST F1 145 97 12 14375 |96 12 3.6 89 15
ST F2 144167 ]96.3333 |18 |43 95.6 15 |37 90 15
S= F3 145 98.3333 |18 |44 97 15 |39 90 15
Had |1 39167 (91 18 |3.4167 |87.3333 |18 |2.8333 |/79.8333 |18
Had |2 141429 |94.7143 |21 |3.8571 |91.1429 |21 |3.1667 |84 18
HAad |3 43333 |94.8333 |18 4 92.3333 |18 |3.3333 |85.5 18
Had 4 144167 985 18 |4.25 96.1667 (18 |3.75 90 18
Had (K1 425 95.5 12 |4 92.5 12 1325 85.75 12
Had  (F2 |44 96.8 15 39167 191.8333 |18 |3.1 83.4 15
Had  |F3 1425 93.8333 |18 |3.8333 9t 18 |3.1667 |84.3333 |18
= 1 140833 |94.6667 |18 3.8333 |91.8333 |18 |3.25 84.6667 |18
A = 2 143333 |96.6667 |18 |4.0833 |93.1667 |18 |3.4167 |86.5 18
= F1 140833 |92.1667 |18 [3.875 [90.5 12 13375 8425 12
A = F2 44167 |97.1667 |18 425 |96 18 |39 92.4 15
A#FE |1 1425 948333 |18 |4 92.8333 |18 |3.4167 |85.8333 |18
A |2 425 94.6667 |18 |3.8333 |89.6667 18 |3.1667 |84 18
ZsE |3 42143 1958571 |21 |3.8333 |90.5 18 13.0833 |81.5 18
A |4 1425 95.5 18 3.8333 |91 18 |3.1667 83.3333 |18
ZA+#FEH  F1 |43 96.6 15 14.0833 94 18 3375 |86.75 12
e (F2 44167 |97 18 425 1958333 |18 [3.6 87.4 15
A8 |F3 425 96.1667 |18 |4 92.5 18 3.2 83.4 15
sA-HoleH |1 4 92.8333 |18 |3.8333 |90.5 18 12.9167 |81 18
sA-ololef |2 43333 |97.1667 (18 425 951667 |18 |3.5833 |89.1667 |18
sA-dlolef |3 44167 |98.1667 |18 |425 |95.3333 |18 |3.6667 |89.1667 |18




2022t A = 25t7] ot StntH M X ShehE

MEes 5 Mot Z7 Mg 2y

stat o Ed w@y | A" ol ®E | AF ol ®E | AMHE o

#@ | "y sd =@ | #F |oF "7 | "7 o
sH-tlol& |4 |45 978333 |18 |4.2143 |94.2857 |21 |3.4286 |86.7143 21
sAl-dlolef |F1 14.3333 956667 |18 |4 91.8333 |18 |3.125 |83.75 12
= -HlolH |F2 4.5 97.5 18 143333 |94.1667 |18 3.5 87 15
sH-tlole |[F3 |45 98 15 44167 |96.1667 |18 |3.8333 |91.1667 |18
=zt~ |1 39167 |91.1667 |18 3.4167 |85.8333 18
ZgkA ]2 143333 (955 18 13.9286 |91.8571 |21 |3.4167 86.6667 |18
=ZgA 13 |45 98.5 18 14.3333 |95.1667 |18 |3.5833 88.5 18
=gA 14 |45 98.3333 |18 |4.3333 |96.8333 |18 |3.7143 |89.8571 |21
=gA  F1 45 98.2 15 14125 |925 12 3.5833 |87.6667 |18
=ZA  F2 |43 96 15 |4 93.6 15 ]3.5833 |87.8333 |18
=gA  F3 |45 98.3333 |18 [4.25 |94.8333 |18 |3.6 88.4 15
XS 11425 95 18 14.0833 |92.8333 |18 |3.4167 86.1667 |18
RS 2 143333 |96.3333 |18 |4 92.3333 |18 |35 87.3333 |18
RS 3 425 95.5 18 |4 92.6667 |18 |3.4167 |86.5 18
XS 4 1425 94.5 18 13.9286 |90.7143 |21 |3.3571 85.85/1 |21
RS F1 14.1667 |94 18 ]3.8333 |89.6667 |18 |3.1667 |83.6667 |18
XS F2 14.3333 |96 18 1425 |94.6667 |18 |36 88.2 15
RS F3 4.3 95.4 15 42 92.8 15 325 |84.8333 |18




